MODULE 3
LESSON 1
QUIZ

1. Question. For which values of z is the rational function

-1
f(x):m
undefined?
Alxz=1landz=-1
B.x:Oandx:%
Cr=0,z=4%andz=—3

D.z2=2and z = -3

Go to answer [I]

2. Question. For which values of x is the rational function

—22 + 52
f<x>—x2—|—x—6

undefined?

Alz=0and z=5
Bzrz=0,x=52r=—-2andx=3
C.rx=-2andx=3
D.x=2and z = -3

Go to answer [2



3. Question. Which of the following is

—X

+
z+1

written in the lowest terms?

A —x+2

2x+3

—z242
B. z24+32+2

C —z?44x+2
tox242242

—x242
D. 242243

Go to answer 3]

4. Question. Which of the following is

1 22

2
T+ 2

+1

r a3 —x

written in the lowest terms?

A =z

2z —x3

B. =

z2—1

C.0

D. 2

r3—x

Go to answer [



5. Question. Which of the following is

1 22+1
-

3 —x

written in the lowest terms?

A z2—1

241

B x2+1

P S

C I3 —X

34

2
z°+1
D. &5

Go to answer

6. Question. Which of the following is

N

r—3  x22-9

written in the lowest terms?

e
A. 3 —322—-9x+27

2243z
B. e

2243
C. =5

2243z
D. ]

Go to answer



7. Question. Which of the following is

(z+1)(x—-3)

22 +5x+6

(xr+2)(x+3)

written in the lowest terms?

A (x+1)(z—3) (22 +52+6)
© (xz42)(z+3) (z2 —22—3)

(x+1)(z2+52+6)
B. (z+2)(z%2—22—3)

C. 1
D. 0
Go to answer

8. Question. Which of the following is

l’2

2 —2x —3

20+ 1

22 -9
written in the lowest terms?

3z2—5x—3
A' x—9

B 234322422 +1
© (22-9)(z+3)

C 3z 4422 —18z—9
© x343x2-92-27

x242z+1
D. z24+x—6

Go to answer

r+3



9.

10.

Question. Which of the following is a simplified form of

3z 2
42 + =39

1 1
z—3 + T+2

3z2—5x+4
2zx—1

>

3x+2
2

©

322 —Tx+4
2rx—1

Q

3z —Tx+4
z2—x—6

Go to answer

Question. Which of the following is a simplified form of

8 =
_|_
8
o
—_
~)

i
| |
—_
+
£
=+ (=
—_

6z2—2z
A. r3—1x

3x242z—1
B. e

2z243z—1
C. =5

3z242z—1
D z2—-1

Go to answer [10l



ANSWERS

1.

Answer to Question 1is 7C”.

Go back [Tl

. Answer to Question 2 is "D”.

Go back 2

. Answer to Question 3 is "B”.

Go back 3

. Answer to Question 4 is "D”.

Go back [

. Answer to Question 5 is "A”.

Go back Al

. Answer to Question 6 is "B”.

Go back @]

. Answer to Question 7 is 7 C”.

Go back

. Answer to Question 8 is 7A”.

Go back

. Answer to Question 9 is 7C”.

Go back [



10. Answer to Question 10 is ”B”.

Go back [10]



